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I'm doing my homework assignment.
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1. We have be looking for a job for 6
months.

2. He has been try to solve the problem
for a few hours.

& - D21 B AW = A2 A+ 2 A



3. AARSESEF I7”>‘H 0|0F7| S stk 10,
They ( talk ) for two hours.
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The professor ( be teaching ) here since
last year.

5. 1 3|AfO|| 2 WRy 22 Z0|AIL|7}?

How many years ( work ) for the
company?
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1. O A= A0{of sli=h| (A2{A] 5=5H0f).

| ( buy) the stock.
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3. A2|A7} 1 YR E 227t A 2F5H.
Chris ( steal ) the ring.
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Mike doesn’t answer the phone. He ( go out).

5. 9 L LV|F AHA| LU0{0F sHO] (L] HUAI).
You ( read ) my diary.
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He is reported to be arrested.
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He is reported to have been arrested.
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He hates himself for cheating on his wife.
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He hates himself for having cheated on
his wife.
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1. It seems that she was sick all night.
She seems to ( be ) sick all night.

2. It appears that he goes through
difficult situations.

He appears to ( go ) through difficult
situations.



~”~

&2 k5 - 32 4 <having p.p.>E SHARR| 2471 AA|
3. It was reported that he had stolen

the car.

He was reported to ( steal ) the car.

4. He is ashamed that he fell down on
the floor.

He is ashamed of ( fall ) down on the
floor.

5. They complained that they had too
much work.

They complained of ( have ) too much
work.



